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GCSE Mathematics
Practice Tests: Set 7

Paper 1F (Non-calculator)
Time: 1 hour 30 minutes

You should have: Ruler graduated in centimetres and millimetres,
protractor, pair of compasses, pen, HB pencil, eraser. Tracing paper
may be used.

Instructions

e Use black ink or ball-point pen.
e Fill in the boxes at the top of this page with your name,
centre number and candidate number.,
e Answer all questions.
e Answer the questions in the spaces provided
— there may be more space than you need.
e Calculators must not be used.
e Diagrams are NOT accurately drawn, unless otherwise indicated.
¢ You must show all your working out.

Information

e The total mark for this paper is 80
e The marks for each question are shown in brackets
— use this as a guide as to how much time to spend on each question.

Advice

e Read each question carefully before you start to answer it.
e Keep an eye on the time.

e Try to answer every question.

e Check your answers if you have time at the end.
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Write your answers in the spaces provided.

Answer ALL questions.

You must write down all the stages in your working.

(a) Write the following numbers in order of size.
Start with the smallest number.

& ()]
(b) Write the following numbers in order of size. C)('dQﬂ-@ D-QC‘.d\f)ﬂa.k S
Start with the smallest number. |.OZS
— I.s€0 &
1.085 1.58 1.805 1.508 1-80S ©

|.S0& @

(Total for Question 1 is 2 marks)

Write 27% as a fraction in its simplest form. CU\JQFHV\3 TP
TR |
95 =52
lo® Z3
00

(Total for Question 2 is 1 mark)

Write 221'%9 correct to the nearest 100 QDUJ\&LN‘%
B rendS up... 2600

(Total for Question 3 is 1 mark)
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4,  In the space below, draw a parallelogram.

—

/

(Total for Question 4 is 1 mark)

5.  Find the number that is exactly half way between —6 and 8 N ! ‘LPDLM U"@ 2 '\)u”"ws

-6+ &=2 = |

2. - -
(Total for Question 5 is 2 marks)
6. How many minutes are there in 4+ hours? Cg\yﬂ*htj Uats O’Q Tume

| houwr = 60mne WhowsS = 240 muns

- s m lﬂwg
= hour A0

—

<2 Fonwuns

(Total for Question 6 is 2 marks)
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7. 60 people each took a driving test one day.

The ratio of men to women was 1:2. ——> M = = "?"'D” _3
%-of the 60 people failed their test -13 o} 60= 20 -’-‘ic,{. 60— O
17 of the men passed their test. §

(a) Use this information to complete the frequency tree.

sotewo=-a

2 e -Fou' T LN - A@Q; (ed\ passed

woren
failed

mei

failed

3)
(b) Find the probability that a man failed his driving test on this day.
wen frod failed = 2
=
; . -
Mo ua' deted = FO . e
3
V-
)
(2

(Total for Question 7 is 5 marks)
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8.  The water in a fish tank is treated by using 5 millilitres of AquaGuard for every 10 litres of
water in the tank.

(a) Write down the ratio of the volume of AquaGuard used to the volume of water in the tank.
Give your answer in the form 1 : n

Aquoguacls \Weter P T
I = ©eom b S L loocoo mU
(=S) [m L~ 2000 ML\
1 OO0
(2)
A tank contains 96 litres of water.
(b)y Work out the volume of AquaGuard that should be used.
Give your answer in millilitres.
jﬁ-m\ (o) lmL: Looomh
=8
Ab L= 460 mL L&ml: A6000m | (A60~2000) =&
....................... LL8 millilitres
@

(Total for Question 8 is 4 marks)
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9.  Inaschool, there are 320 girls and 500 boys.

(a) Write down the ratio of the number of girls to the number of boys.
Give your ratio in its simplest form.

1 60O 23 0
G-yl.g'.@ads RAIG @ TS0 Z ) R0 2 )§QQ
(53 L6G « 28O
(o) 16 v 28

In a different school, there is a total of 640 children.
In this school, the ratio of the number of girls to the number of boys is 7 : 9

-’vaﬁ Caodno
Gidg : @US = : 9

(b) How many boys are there in this school?

Toval™— au0
('S
'_7+al:(w |6 parts = &% 0 )OL,.Q 'i';
_ &) E4O
(-'_-u‘_h \loaH: = LO &Y

BOJS:CIPOJ%S-
(xA)

\l
N
@

q porks

(Total for Question 9 is 4 marks)
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10.  There aretudents at a college.

dents study both French and Spanish.
4>

students study French but not Spanish.
total otudents study Spanish.

43-20=13

@
@
S

(a) Complete the Venn diagram for this information.

\Jenn foO&C‘OM\S

French

One of the students at the college is to be selected at random.

(b) Write down the probability that this student studies neither French nor Spanish.

Lt pecple ok of 6O

3)
= 4
......... €0
(1)

(Total for Question 10 is 4 marks)
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11. (i) Measure the length of PO.

NOTE: MU SChEME TS Golonr

PO = 8 . 2‘ cm

(i1) Mark with a cross (*) the midpoint of the line PQ.
8222 =Lelem (1)
G,

(ii1) Draw a line perpendicular to the line PQ that passes through point P.
| (1)
V)

¥ o ﬁSM CY\BLQ— (Total for Question 11 is 3 marks)
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12. Beatrice has some books. =
Caroline has two times as many books as Beatrice. 2 =
Dolly has seven more books than Caroline. I e

They have a total of 57 books.
Dolly says,

“If I give some books to Beatrice, each of us will have the same number of books.”

Is Dolly correct?
You must show how you get your answer.

TTetal=SF Recdvie + Coolne roc\\d = S+

g, + 2= 4+ 72%x¥F+—= ST+

Cerect Sx ¥ # =S5
(-%) S =SSO
(:?5) >c_ —
geam‘m,: 3L = 1o lbbecues
QD% 3 20 - 27‘ lowaleS (Total for Question 12 is 3 marks)
Conelos an Ne Swce Beatri@ lhasan e aumounck

loudt Do(& has onm odd ounound .

- Can nunes be tla cownl amoud.
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13. The diagram shows a rectangular wall.

1.8m = 180cm

6m —COOUMm
Fiona is going to cover the wall with rectangular tiles.

Each tile is 60 cm by 30 cm.
% of the tiles will be white.

Some of the tiles will be green.
The rest of the tiles will be blue.

The ratio of the number of green tiles to the number of blue tiles will be 1 : 3

(a) Assuming there are no gaps between the tiles, how many tiles of each colour will Fiona

need?
Fotn b= GO withl 10 Hles £iF Lidthways (€00’ € =10
Caon Hile = 2Ctm lagh ' Wl AF_;{- meoﬂj (lgOva“'.’ 300 :"6)
Tota | Tiles lox & = 60-+les
| —— Zx &0 = 36 e Hles
Caveen ond Blua 60 -36 = LY whitetiles ..... EI S
S  Bibn | oo | 24 Soen tiles ......... 6 ...........................
b = 7.+ bluetiles ............ lg .......................
Ty | part = ran= 6
i % ZP S = Rlye=1% )
Fiona is told that she should leave gaps between the tiles.

(b) IfFiona leaves gaps between the tiles, how could this affect the number of tiles she needs?

Decresse Yo mmmees o hiled o

1)
(Total for Question 13 is 6 marks)
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14.

<
—
1
EiN
S
-V

Phone calls cost £ y for x minutes.
The graph gives the values of y for values of x from 0 to 5

(a) (1) Give an interpretation of the intercept of the graph on the y-axis.

(i1) Give an interpretation of the gradient of the graph.

M@Wns%%mwiﬂauw& ...........

(2)
(b) Find the equation of the straight line in the form y=mx+c
i s
i = Sz B Jeder gyt
m ——\‘jz"a ) 2 2
'____._ﬂ
’x-L"‘I [}
(1) ondk (B+S)
i i (0,0 I
% R ) At @)
‘j =~ 3 2 = (Total for Question 14 is 5 marks)
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15. ABCDE is a pentagon.

(rece af 20 Shapes
CRytnggeas)

COMPOUND SHAPES
A

@ @ Scm

Scm

B : E
4cem dem
C = D
Scm

‘Work out the area of ABCDE.

bxh =
(D exh -

%)
{— ]
M

PCoBLEM. . . e dont hqve;\'w_ho\‘%w\-!

pb*fhpﬂms s AR

Ltq”l—lr:‘”": S'z
@ Yem 6+ =28
(&) | bT= 4
E b =2 Lo =S
“
@lg_\_(’_‘;b:‘ﬁ Lrﬂi_%_%-‘:\Zsz:&M
—E, e
2 ) bxh - A Leom X Pen — _I_Q_«C_{V\: - éCMz
" -

(Total for Question 15 is 5 marks)
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17.

[

. "

|

|

|

[N
) S R T

-3
Translate shape A by the vector ( 2).

(Total for Question 17 is 1 mark)

18. Solve 2.5= -)ﬁi SCJ\\ME% ed'ﬁ‘\‘\'\m ¢

?_S':_?‘-— Z-8

6 6"

(<o) | 1s ==¢ o
kS e

(Total for Question 18 is 1 mark)

Edexcel GCSE Mathematics (9—1) Practice Tests Set 7: Paper 1F — Spring 2018 14



19.
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The size of the largest angle in a triangle is 5 times the size of the smallest angle.

The other angle is 29° less than the largest angle.

Work out, in degrees, the size of each angle in the triangle.
You must show your working.

Smatlest = 2

Laraest = St

OHer = Sx-29
Tote | =180°
(Prglea vt evnongla = &) SC+Sa+Sx -9 =180
Colleot |\ 20 = 180 i
C+24) L\ne — 20m49 ) 208
=) o = 19
Senadlaat =3¢ o= (Total for Question 19 is 5 marks)
o : i
Ofter  =S53-29 Sx-2A = AT-24 :é,g__g A
AS
29
66
Cenclusion
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20. (a) Simplify, leaving your answers in index form,

i) 7Bx7Px7

Mt = a™
(i) (4")?

(am)n. - amm

5" x5
5

(b)
Find the value of n.
Drc() Boses
cotle

(+2)

@ 3 ‘ A+ 12

T XF ¥x*F = =+
ey

- (72

.. .

2)
A -6 = Y
n - = Y
N =

—— 7 "?—' ................

(2)

(Total for Question 20 is 4 marks)
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2. Find the highest common factor (HCF) of 147, 42 and 252

L_\_-?_- x ;’?_,3.' G. ”*’fllll("z'

il we A B B TR
G
o 63

= - = Zﬁ)ﬂ-&?’ 1o
W3 = Tl = b

= 7
b = oOlz

W‘ 2= 1T
’2.\}’%?{

S sadedds of ULdyFod 252

(Total for Question 2 is 2 marks)

3. The total weight of 3 identical video games 18 525 g. UWj MW

Work out the total weight of 5 of these video games.

2gaus > 515 s
\ o
(=73) ISCW‘ = 1S4

(xS) 530“0’5 - 8?‘S:J S

(Total for Question 3 is 2 marks)
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4. The perimeter of a triangle is 90 cm.
The lengths of the sides of the triangle are in the ratios 3 : 5 : 7

Work out the length of the longest side of the triangle.

Toted lS()aﬁb = 9Gfina

(=¢%) lpc/f’ — g
Logedf':ﬁva 7pet? B, Miten

(Total for Question 4 is 3 marks)
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There arc

x stamps in a small packet
(v + 3) stamps in a medium packet
and (v + 4) stamps in a large packet

The total number of stamps in the three packets is N.

(i) Write down an equation for N in terms of x.
Give your cquation in its simplest form.

TotodzN | N = Smal taadum + large
W':

cotlect VN

*. *+ X+ + Xty

= B AFE N =2Ltt .
(2)
There is a total of 61 stamps.
(i) Work out the number of stamps in the medium packet.
_JQ,.W () N =2t 7
6l =3+F
(-¥) | Sw =3
(= & = %
= 2|

(Total for Question 3 is 5 marks)
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+35
25. (a) Write 75 000 in standard form.
208

- 1. Sweup’

A computer can carry out a simple calculation in 1 picosecond where
1 picosecond = 107'2 seconds.

(b) Write down in standard form the time, in seconds, for this computer to carry out 75 000

simple calculations. | calaudoten= | F\w-_-, \ 6\?_
-\
(xseo) = P 00D piessecrd S = FSO0 KO
¥ .—_“?--Ssc]c;‘)"wctoiz'
usivg (&) p
L Y, = T SNAO
.................. 7—S><IO seconds

(2)
(Total for Question 25 is 3 marks)

26. Write 420 as a product of its prime factors. P frars JUN0D J Qjo P DIY@.Q
U2o )_2;1_0. DS

A
/\ w20 224D

O @ 0325

2 el
# N d)io's

K20 = LKL ERXN 8T

(Total for Question 26 is 3 marks)

TOTAL FOR PAPER: 80 MARKS
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